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1. vaxzsth o.kZekyk ijh{k.k 

	 1.	 ml fodYi dk p;u djsa tks fn, x, 'kCnksa 
ds lgh Øe dks mlh izdkj ls n'kkZrk gS ftl 
izdkj ls os vaxzsth 'kCndks'k esa fn[kkbZ nsrs gSaA

	 	 I.	 Vantage	 II.	 Wherefore
		  III.	 Uplift	 IV.	 Various
		  V.	 Variety	 VI.	 Valor
		  (A)	 III, VI, I, V, IV, II
		  (B)	 III, I, VI, IV, V, II
		  (C)	 III, VI, I, IV, V, II
		  (D)	 VI, III, I, V, IV, II
		  Select the option that represents the 

correct order of the given words as they 
would appear in an English dictionary.

		  I.	 Vantage	 II.	 Wherefore
		  III.	 Uplift	 IV.	 Various
		  V.	 Variety	 VI.	 Valor
		  (A)	 III, VI, I, V, IV, II
		  (B)	 III, I, VI, IV, V, II
		  (C)	 III, VI, I, IV, V, II
		  (D)	 VI, III, I, V, IV, II

[CHSL 25/05/2022 Shift-3]

	 2.	 ml fodYi dk p;u djsa tks fn, x, 'kCnksa ds 
ml lgh Øe dk fu:i.k djrk gS tSls fd os 
,d vaxzsth 'kCndks'k esa fn[kkbZ nsaxsA

		  I.	 Mathematic	 II.	 Malfunction
		  III.	 Masterpiece	 IV.	 Manipulation
		  V.	 Manageable
	 	 (A)	 II, V, III, IV, I	 (B)	 II, IV, V, III, I
		  (C)	 V, II, IV, III, I	 (D)	 II, V, IV, III, I
		  Select the option that Represents the 

correct Order of the given words as they 
would appear in an English dictionary.

		  I.	 Mathematic	 II.	 Malfunction
		  III.	 Masterpiece	 IV.	 Manipulation
		  V.	 Manageable
		  (A)	 II, V, III, IV, I	 (B)	 II, IV, V, III, I
		  (C)	 V, II, IV, III, I	 (D)	 II, V, IV, III, I

[CHSL 01/06/2022 Shift-1]

	 3.	 ml fodYi dk p;u djsa tks fn, x, 'kCnksa 
ds lgh Øe dks mlh izdkj ls n'kkZrk gS ftl 
izdkj ls os vaxzsth 'kCndks'k esa fn[kkbZ nsrs gSaA

		  I.	 Prophet	 II.	 Prudent
		  III.	 Producer	 IV.	 Quest
		  V.	 Puberty	 VI.	 Profound
		  (A)	 III, V, VI, I, II, IV
		  (B)	 III, VI, II, I, V, IV

		  (C)	 III, I, VI, V, II, IV
		  (D)	 III, VI, I, II, V, IV
		  Select the option that represents the 

correct order of the given words as they 
would appear in an English dictionary.

		  I.	 Prophet	 II.	 Prudent
		  III.	 Producer	 IV.	 Quest
		  V.	 Puberty	 VI.	 Profound
		  (A)	 III, V, VI, I, II, IV
		  (B)	 III, VI, II, I, V, IV
		  (C)	 III, I, VI, V, II, IV
		  (D)	 III, VI, I, II, V, IV

[CHSL 02/06/2022 Shift-3]

	 4.	 ml fodYi dk p;u dhft, tks fn, x, 'kCnksa 
ds ml lgh Øe dks fu:fir djrk gS ftl Øe 
esa os vaxzsth 'kCndks'k esa fn[kkbZ nsrs gSaA

	 	 I.	 Hypocrisy	 II.	 Hilarious
		  III.	 Humidity	 IV.	 Highlight
		  V.	 Hallucinate
		  (A)	 V, II, IV, III, I	 (B)	 V, III, IV, II, I
		  (C)	 V, IV, II, III, I	 (D)	V, IV, III, II, I
		  Select the option that represents the 

correct order of the given words as they 
would appear in an English dictionary.

		  I.	 Hypocrisy	 II.	 Hilarious
		  III.	 Humidity	 IV.	 Highlight
		  V.	 Hallucinate
		  (A)	 V, II, IV, III, I	 (B)	 V, III, IV, II, I
		  (C)	 V, IV, II, III, I	 (D)	V, IV, III, II, I

[CHSL 09/06/2022 Shift-2]

	 5.	 ml fodYi dk p;u djsa tks fn, x, 'kCnksa 

ds lgh Øe dks mlh izdkj ls n'kkZrk gS ftl 

izdkj ls os vaxzsth 'kCndks'k esa fn[kkbZ nsrs gSaA
		  I.	 Perilous	 II.	 Pessimist
		  III.	 Pedestrian	 IV.	 Perceive
		  V.	 Perfect	 VI.	 Peasank
		  (A)	 VI, IV, III, I, II, V
		  (B)	 VI, III, IV, V, I, II
		  (C)	 III, VI, V, IV, II, I
	 	 (D)	 III, V, IV, VI, I, II
		  Select the option that represents the correct 

order of the given words as they would 
appear in an English dictionary.

		  I.	 Perilous	 II.	 Pessimist
		  III.	 Pedestrian	 IV.	 Perceive
		  V.	 Perfect	 VI.	 Peasank
		  (A)	 VI, IV, III, I, II, V
		  (B)	 VI, III, IV, V, I, II

		  (C)	 III, VI, V, IV, II, I
	 	 (D)	 III, V, IV, VI, I, II

[CHSL 10/06/2022 Shift-1]

2. lkadsfrd Hkk"kk ijh{k.k
	 6.	 ,d fuf'pr dksM Hkk"kk esa] 'RAIN' dks '182915' 

vkSj 'SUN' dks '192214' fy[kk tkrk gSA mlh 
Hkk"kk esa 'MOON' dSls fy[kk tk,xk\

	 	 (A)	 13161415	 (B)	 13161616
		  (C)	 13161515	 (D)	13161414
		  In a certain code language, 'RAIN' is 

written as '182915' and 'SUN' is written 
as '192214'. How will 'MOON' be written 
in that language?

		  (A)	 13161415	 (B)	 13161616
		  (C)	 13161515	 (D)	13161414

[CHSL 24/05/2022 Shift-1]

	 7.	 fdlh fuf'pr dksM Hkk"kk esa] 'ARE' dks '87' 
ds :i esa dksfMr fd;k x;k gS vkSj 'NOT' dks 
'4197' ds :i esa dksfMr fd;k x;k gSA mlh 
Hkk"kk esa 'CAT' dks fdl :i esa dksfMr fd;k 
tk,xk\

	 	 (A)	 54	 (B)	 60
		  (C)	 57	 (D)	63
		  In a certain code language, 'ARE' is coded 

as '87' and 'NOT' is coded as '4197'. How 
will 'CAT' be coded in that language?

		  (A)	 54	 (B)	 60
		  (C)	 57	 (D)	63

[CHSL 24/05/2022 Shift-1]

	 8.	 ,d fuf'pr dwV Hkk"kk es a] 'GREAT' dks 
'2015187' ds :i esa dwVc¼ fd;k tkrk gS] 
'WORK' dks '11181523' ds :i esa dwVc¼ 
fd;k tkrk gS vkSj 'GOING' dks '7149157' 
ds :i esa dwVc¼ fd;k tkrk gSA ml Hkk"kk esa 
'WELL' dks dSls dwVc¼ fd;k tk,xk\

		  (A)	 1425431	 (B)	 3231345
		  (C)	 1454321	 (D)	1212523
		  In a certain code language, 'GREAT is 

coded as '2015187', 'WORK' is coded 
as '11181523' and 'GOING' is coded as 
'7149157'. How will 'WELL' be coded in 
that language?

		  (A)	 1425431	 (B)	 3231345
		  (C)	 1454321	 (D)	1212523

[CHSL 25/05/2022 Shift-1]
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	 9.	 ,d fuf'pr dwV Hkk"kk esa 'Read the code' 
dks '18 20 3' ds :i esa dwVc¼ fd;k tkrk 
gS] 'Decode the code' dks '4 20 3' ds :i esa 
dwVc¼ fd;k tkrk gS vkSj 'code is easy' dks 
'3 9 5' ds :i esa dwVc¼ fd;k tkrk gSA mlh 
Hkk"kk esa 'make one code' dks dSls dwVc¼ fd;k 
tk,xk\

		  (A)	 19185	 (B)	 121315
		  (C)	 13153	 (D)	125
		  In a certain code language, 'Read the code' 

is coded as '18 20 3', 'Decode the code' 
is coded as '4 20 3' and 'code is easy' is 
coded as '3 9 5'. How will 'make one code' 
be coded in that language?

		  (A)	 19185	 (B)	 121315
		  (C)	 13153	 (D)	125

[CHSL 26/05/2022 Shift-2]

	 10.	 ,d fuf'pr dksM Hkk"kk es a] 'HELP' dks 
'1652432' vkSj 'SAVE' dks '381445' fy[kk 
tkrk gSA mlh Hkk"kk esa 'MAIL' dSls fy[kk 
tk,xk\

		  (A)	 261926	 (B)	 261924
		  (C)	 261934	 (D)	261928
		  In a certain code language, 'HELP' is 

written as '1652432' and 'SAVE' is written 
as '381445'. How will 'MAIL' be written 
in that language?

		  (A)	 261926	 (B)	 261924
		  (C)	 261934	 (D)	261928

[CHSL 26/05/2022 Shift-3]

	 11.	 ,d fuf'pr dksM Hkk"kk esa 'MATHS' dks 
'13320819' vkSj 'HINDI' dks '82714427' 
fy[kk tkrk gSA mlh Hkk"kk esa 'PHYSICS' dSls 
fy[kk tk,xk\

		  (A)	 168251928319	(B)	 168251923319
		  (C)	 168251937319	(D)	168251927319
		  In a certain code language, 'MATHS' 

is written as '13320819' and 'HINDI' 
is written as '82714427'. How will 
'PHYSICS' be written in that language?

		  (A)	 168251928319	(B)	 168251923319
		  (C)	 168251937319	(D)	168251927319

[CHSL 27/05/2022 Shift-1]

	 12.	 ,d fuf'pr dwV Hkk"kk esa] 'BASKET' dks 
'211911520' ds :i esa dwVc¼ fd;k tkrk 
gs vkSj 'BOX' dks '21524' ds :i esa dwVc¼ 
fd;k tkrk gSA ml Hkk"kk esa 'COVER' dks dSls 
dwVc¼ fd;k tk,xk\

		  (A)	 31522519	 (B)	 31522518
		  (C)	 21522519	 (D)	31822518
		  In a certain code language, 'BASKET' is 

coded as '211911520' and 'BOX' is coded 
as '21524'. How will 'COVER' be coded 
in that language?

		  (A)	 31522519	 (B)	 31522518
		  (C)	 21522519	 (D)	31822518

[CHSL 27/05/2022 Shift-1]

	 13.	 ,d fuf'pr dksM Hkk"kk esa] 'AN' dks '16' ds :i 
esa dksfMr fd;k x;k gS vkSj 'NO' dks '212' ds 
:i esa dksfMr fd;k x;k gSA mlh Hkk"kk esa 'US' 
dks fdl izdkj dksfMr fd;k tk,xk\

		  (A)	 403	 (B)	 397
		  (C)	 401	 (D)	399
		  In a certain code language, 'AN' is coded 

as '16' and 'NO' is coded as '212'. How 
will 'US' be coded in that language?

		  (A)	 403	 (B)	 397
		  (C)	 401	 (D)	399

[CHSL 27/05/2022 Shift-2]

	 14.	 ,d fuf'pr dwV Hkk"kk es a] 'CHILD' dks 
'6169248' fy[kk tkrk gS vkSj 'GUEST' dks 
'142153840' fy[kk tkrk gSA mlh Hkk"kk esa 
'BOOK' dks D;k fy[kk tk,xk\

		  (A)	 2303011	 (B)	 41522
		  (C)	 4151522	 (D)	23011
		  In a certain code language, 'CHILD' is 

written as '6169248' and 'GUEST' is 
written as '142153840'. How will 'BOOK' 
be written in that language?

		  (A)	 2303011	 (B)	 41522
		  (C)	 4151522	 (D)	23011

[CHSL 30/05/2022 Shift-3]

	 15.	 ,d fuf'pr dwV Hkk"kk es a] 'STATE' dks 
'38401405' fy[kk tkrk gS vkSj 'EXILE' 
dks '5489245' fy[kk tkrk gSA mlh Hkk"kk esa 
'ARENA' dks D;k fy[kk tk,xk\

		  (A)	 21810142	 (B)	 1365281
		  (C)	 21181014	 (D)	1365141
		  In a certain code language, 'STATE' is 

written as '38401405' and 'EXILE' is 
written as '5489245'. How will 'ARENA' 
be written in that language?

		  (A)	 21810142	 (B)	 1365281
		  (C)	 21181014	 (D)	1365141

[CHSL 31/05/2022 Shift-1]

	 16.	 ,d fuf'pr dksM Hkk"kk esa] 'NOPE' dks '100' 
ds :i esa dksfMr fd;k x;k] vkSj 'EGG' dks 
'38' ds :i esa dksfMr fd;k x;k gSA mlh Hkk"kk 
esa 'LAP' dks fdl :i esa dksfMr fd;k tk,xk\

		  (A)	 27	 (B)	 31
		  (C)	 29	 (D)	58
		  In a certain code language, 'NOPE' is 

coded as '100' and 'EGG' is coded as 
'38'. How will 'LAP' be coded in that 
language?

		  (A)	 27	 (B)	 31
		  (C)	 29	 (D)	58

[CHSL 31/05/2022 Shift-1]

 	17.	 ,d fuf'pr dwV Hkk"kk esa] 'DIVIDE' dks '7 17 
43 17 7 9' ds :i esa dwVc¼ fd;k tkrk gS vkSj 
'SUBTRACT' dks '37 41 3 39 35 1 5 39' 
ds :i esa dwVc¼ fd;k tkrk gSA ml Hkk"kk esa 
'ADDITION' dks dSls dwVc¼ fd;k tk,xk\

		  (A)	 1 6 7 17 29 17 29 27
		  (B)	 1 7 2 17 22 17 29 27
		  (C)	 1 7 7 15 39 17 29 29
		  (D)	 1 7 7 17 39 17 29 27
		  In a certain code language, 'DIVIDE' is 

coded as '7 17 43 17 7 9' and 'SUBTRACT' 
is coded as '37 41 3 39 35 1 5 39'. How 
will 'ADDITION' be coded in that 
language?

		  (A)	 1 6 7 17 29 17 29 27
		  (B)	 1 7 2 17 22 17 29 27
		  (C)	 1 7 7 15 39 17 29 29
		  (D)	 1 7 7 17 39 17 29 27

[CHSL 31/05/2022 Shift-3]

	 18.	 ,d fuf'pr dwV Hkk"kk es a] 'CONCEPT' 
dks '3o14c5p20' vkSj 'PROBLEM' dks 
'16r15b12e13' fy[kk tkrk gSA mlh Hkk"kk esa 
'SOLVE' dks dSls fy[kk tk,xk\

		  (A)	 Po12v5	 (B)	 19o12v5
		  (C)	 18o12v5	 (D)	19o1345
		  In a certain code language, 'CONCEPT' is 

written as '3o14c5p20' and 'PROBELM' 
is written as '16r15b12e13'. How will 
'SOLVE' be written in that language?

		  (A)	 Po12v5	 (B)	 19o12v5
		  (C)	 18o12v5	 (D)	19o1345

[CHSL 02/06/2022 Shift-1]

	 19.	 ,d fuf'pr dwV Hkk"kk esa] 'ACTOR' dks 
'136812' vkSj 'HEROINE' dks '95128745' 
fy[kk tkrk gSA mlh Hkk"kk esa 'HERO' dks dSls 
fy[kk tk,xk\

		  (A)	 95128	 (B)	 95768
		  (C)	 95218	 (D)	95378
		  In a certain code language, 'ACTOR' is 

written as '136812' and 'HEROINE' is 
written as '95128745'. How will 'HERO' 
be written in that language?		
(A)	 95128	 (B)	 95768

		  (C)	 95218	 (D)	95378
[CHSL 02/06/2022 Shift-2]

	 20.	 ,d fuf'pr dwV Hk k " k k e s a ]  'SKATE' 
dk s '191122010' vk Sj 'ROLLER' dk s 
'183012121018' fy[kk tkrk gSA mlh Hkk"kk 
esa 'SLIDE' dSls fy[kk tk,xk\

		  (A)	 191218412	 (B)	 191218416
		  (C)	 191218414	 (D)	191218410
		  In a certain code language, 'SKATE' is 

written as '191122010' and 'ROLLER' 
is written as '183012121018'. How will 
'SLIDE' be written in that language?

		  (A)	 191218412	 (B)	 191218416
		  (C)	 191218414	 (D)	191218410

[CHSL 02/06/2022 Shift-3]

	 21.	 ,d fuf'pr dksM Hkk"kk esa] 'RESET' dks 
'36538540' vkSj 'START' dks '384013640' 
fy[kk tkrk gSA mlh Hkk"kk esa 'STOP' dSls fy[kk 
tk,xk\
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lkekU; tkx:drk

izkphu Hkkjr dk bfrgkl
1. bfrgkl tkuus ds lzksr

	 1.	 fuEufyf[kr es ls dkSu&lk u`R; eafnjksa dks 
lefiZr fd;k tkrk gS vkSj igys lkfnj ds :i 
esa tkuk tkrk Fkk \

		  (A)	 HkjrukVîe	 (B)	 dFkd

		  (C)	 ef.kiqjh	 (D)	dFkdyh

		  Which of the following dances is 
dedicated to temples and was earlier 
known as Sadir ?

		  (A)	 Bharatnatyam	 (B)	 Kathak
		  (C)	 Manipuri	 (D)	Kathakali

[SSC CHSL 24-5-2022 Shift-1]

	 2.	 iùJh iqjLdkj ls lEekfur xq# xaxk/kj izèkku 
fuEufyf[kr esa ls fdl u`R; 'kSyh ds dq'ky 
urZd gSa \

		  (A)	 ef.kiqjh	 (B)	 vksfMlh

		  (C) 	 dFkdyh	 (D)	dFkd

		  PadmaShri awardee Guru Gangadhar 
Pradhan is an accomplished dancer of 
which of the following dance forms ?

		  (A)	 Manipuri	 (B)	 Odissi
		  (C)	 Kathakali	 (D)	Kathak

[SSC CHSL 25-5-2022 Shift-3]

	 3.	 fueZyk esgrk dkSu&lh Hkkjrh; 'kkL=h; u`R; 
'kSyh dh izfrfuf/k gSa \

		  (A)	 ef.kiqjh	 (B)	 vksfMlh

		  (C)	 dFkd	 (D)	l=h;k

		  Nirmala Mehta is an exponent of which 
Indian classical dance form ?

		  (A)	 Manipuri	 (B)	 Odissi
		  (C)	 Kathak	 (D)	Sattriya

[SSC CHSL 27-5-2022 Shift-2]

	 4.	 dFkd u`R; ds izfrfuf/k fcjtw egkjkt 
fuEufyf[kr esa ls dkSu&ls ?kjkus ls tqM+s gSa \ 

		  (A)	 jk;x<+ ?kjkuk	 (B)	 cukjl ?kjkuk
		  (C)	 t;iqj ?kjkuk	 (D)	y[kuÅ ?kjkuk
		  The kathak dance exponent Birju Maharaj 

is associated with which of the following 
Gharana

		  (A)	 Raigarh Gharana
	 	 (B)	 Banaras Gharana
		  (C)	 Jaipur Gharana

	 	 (D)	 Lucknow Gharana
[SSC CHSL 27-5-2022 Shift-3]

	 5.	 ßl=h;kÞ 'kkL=h; u`R; fdl jkT; ls lacaf/kr 
gS \

		  (A)	 vle	 (B)	 dsjy
		  (C)	 fcgkj	 (D)	vksfM'kk
	 	 The "Sattriya" classical dance is associated 

with which state ?
		  (A)	 Assam	 (B)	 Kerala
		  (C)	 Bihar	 (D)	Odisha

[SSC CHSL 3-6-2022 Shift-2]

	 6.	 xq# ,e- ds- ljkstk dks fuEufyf[kr esa ls fdl 
u`R; ds vFkd iz;kl ds fy, iùJh ls lEekfur 
fd;k x;k gS \

		  (A)	 dqfpiqM+h	 (B)	 eksfguhvêe

		  (C)	 vksfMlh	 (D)	HkjrukVîe

	 	 Guru MK Saroja has been conferred with 
the Padma Shri for the relentless pursuit 
of which of the following dance ?

		  (A)	 Kuchipudi	 (B)	 Mohiniyattam
		  (C)	 Odissi	 (D)	Bharatnatyam

[SSC CHSL 7-6-2022 Shift-2]

	 7.	 fuEufyf[kr esa ls dkSu&lk u`R; lksuy ekuflag 
}kjk fd;k tkrk gS \

		  (A)	 HkjrukVîe vkSj eksfguhvêe
		  (B)	 HkjrukVîe vkSj dFkd
		  (C)	 HkjrukVîe vkSj vksfMlh
		  (D)	 dFkd vkSj vksfMlh
		  Which of the following dance forms is 

performed by Sonal Mansingh ?
		  (A)	 Bharatnatyam and Mohiniyattam
		  (B)	 Bharatnatyam and Kathak
		  (C)	 Bharatnatyam and Odissi
	 	 (D)	 Kathak and Odissi

[SSC CHSL 7-6-2022 Shift-3]

	 8.	 fuEufyf[kr esa ls dkSu 19oha lnh esa dFkd u`R; 
ds izfriknd gSa \

		  (A)	 dkfydk izlkn	 (B)	 tfru xksLokeh

		  (C)	 Hkkokuan cjck;u	(D)	Ï".k ikf.kDdj

		  Who among the following is a 19th 
century exponent of the Kathak dance ?

		  (A)	 Kalka Prasad
		  (B)	 Jatin Goswami

		  (C)	 Bhabananda Barbayan
	 	 (D)	 Krishna Panicker

[SSC CHSL 8-6-2022 Shift-1]

	 9.	 laxhr ukVd vdkneh iqjLdkj fotsrk ,y fcuks 
nsoh dks fuEufyf[kr esa ls fdl u`R; 'kSyh esa 
muds ;ksxnku ds fy, iqjLÏr fd;k x;k \

		  (A)	 vksfMlh	 (B)	 l=h;k

		  (C)	 dqfpiqM+h	 (D)	ef.kiqjh

	 	 L Bino Devi, Sangeet Natak Akademi 
Award winner had received the waward 
for his contribution to which of the 
following dances forms ?

		  (A)	 Odissi	 (B)	 Sattriya
		  (C)	 Kuchipudi	 (D)	Manipuri

[SSC CHSL 10-6-2022 Shift-2]

2. flU/kq ?kkVh lH;rk

	 10.	 ekes [kku------------ds ,d Hkkjrh; ik'oZ vkSj 
yksd xk;d gSaµ

		  (A)	 mÙkj izns'k	 (B)	 dsjy

		  (C)	 vka/kz izns'k	 (D)	jktLFkku

	 	 Mame Khan is an Indian playback and 
folk singer from : 

		  (A)	 Uttar Pradesh
		  (B)	 Kerala
		  (C)	 Andhra Pradesh
	 	 (D)	 Rajasthan

[SSC CHSL 24-5-2022 Shift-1]

	 11.	 -----------dks igyh ckj vius firk mLrkn ̂ ckck* 
vykmíhu [kku ds lkfu/; esa 'kkL=h; laxhr 
esa izf'kf{kr fd;k x;k Fkk vkSj mudh enn ls 
mUgksaus eSgj&lsfu;k ?kjkus dh LFkkiuk dhA

		  (A)	 lgkuk cuthZ	 (B)	 :ik iuslkj

		  (C)	 vUuiw.kkZ nsoh	 (D)	vuqiek Hkkxor

	 	 ..............was first trained in classical 
music under her father Ustad 'Baba' 
Allauddin Khan, and established the 
Maihar-Senia gharana with his help.

		  (A)	 Sahana Banerjee
	 	 (B)	 Roopa Panesar
		  (C)	 Annapurna Devi
	 	 (D)	 Anupama Bhagwat

[SSC CHSL 25-5-2022 Shift-2]



40   |    

	 12.	 iafMr Hkokuh 'kadj ,d----------oknd gSA

		  (A)	 rkuiqjk	 (B)	 rcyk

		  (C)	 <ksyd	 (D)	i[kkot

		  Pandit Bhawani Shankar is a..........player.
		  (A)	 Tanpura	 (B)	 Tabla
		  (C)	 Dholka	 (D)	Pakhawaj

[SSC CHSL 26-5-2022 Shift-1]

	 13.	 Hkkjr ds ,d izfl¼ laxhrdkj ,l ckypanj 
dks fuEufyf[kr esa ls dkSu&lk ok| ;a= ctkus 
ds fy, tkuk tkrk gS \

		  (A)	 oh.kk	 (B)	 ?kVe
		  (C)	 rcyk	 (D)	 flrkj

	 	 S Balachander a famous musician from 
India is known for playing which of the 
following instruments ?

		  (A)	 Veena	 (B)	 Ghatam
		  (C)	 Tabla	 (D)	Sitar

[SSC CHSL 27-5-2022 Shift-1]

	 14.	 iafMr vkuan xksiky canksik/;k; cukjl ?kjkus 
ds ,d-------------oknd FksA

		  (A)	 rcyk	 (B)	 ljksn

		  (C)	 lkjaxh	 (D)	 flrkj

		  Pandit Ananda Gopal Bandopadhyay was 
a..............player of the Banaras Gharana

		  (A)	 Tabla	 (B)	 Sarod
		  (C)	 Sarangi	 (D)	Sitar

[SSC CHSL 30-5-2022 Shift-3]

	 15.	 fuEufyf[kr esa ls dkSu&lk fganqLrkuh laxhr 
?kjkuk lHkh [;ky xk;dh 'kSfy;ksa esa lcls 
iqjkuk gS \

		  (A)	 vrjkSyh ?kjkuk	 (B)	 fdjkuk ?kjkuk

		  (C)	 Xokfy;j ?kjkuk	 (D)	vkxjk ?kjkuk

	 	 Which of the following Hindustani 
musical Gharana is the oldest among all 
the Khayal Gayaki Styles ?

		  (A)	 Atraili Gharana	
		  (B)	 Kirana Gharana
		  (C)	 Gwalior Gharana
	 	 (D)	 Agra Gharana

[SSC CHSL 31-5-2022 Shift-1]

	 16.	 fd'kksjh veksudj fuEufyf[kr esa ls fdl laxhr 
ds fy, izfl¼ gSa \

		  (A)	 xT+ky xk;u	

		  (B)	 Hktu xk;u

		  (C)	 dukZVd 'kkL=h; xk;u

		  (D)	 fganqLrkuh 'kkL=h; xk;u

		  Kishori Amonkar is famous for which of 
the following forms of music ?

		  (A)	 Ghazal singing
	 	 (B)	 Bhajan singing

	 	 (C)	 Karnatac classical vocals
	 	 (D)	 Hindustani classical vocals

[SSC CHSL 1-6-2022 Shift-1]

	 17.	 iafMr f'kodqekj 'kekZ ,d 'kkL=h;------------oknd 
gSaA

		  (A)	 'kgukbZ	 (B)	 ck¡lqjh

		  (C)	 rcyk	 (D)	larwj

	 	 Pandit Shivkumar Sharma is a classical 
............player.

		  (A)	 Shehnai	 (B)	 Flute
		  (C)	 Tabla	 (D)	Santoor

[SSC CHSL 6-6-2022 Shift-3]

	 18.	 Hkkjrh; laxhr mLrkn Hkhelsu tks'kh-------------
?kjkus ls lacaf/kr FksA

		  (A)	 vkxjk	 (B)	 ifV;kyk

		  (C)	 bankSj	 (D)	 fdjkuk

		  Indian music maetro Bhimsen Joshi was 
related to the..........Gharana.

		  (A)	 Agra	 (B)	 Patiala
		  (C)	 Indore	 (D)	Kirana

[SSC CHSL 6-6-2022 Shift-2]

	 19.	 t;iqj ?kjkus dh Hkkjrh; 'kkL=h; xkf;dk] 
fd'kksjh veksudj dks fuEufyf[kr esa ls fdl 
o"kZ esa Hkkjr ds nwljs loksZPp ukxfjd iqjLdkj 
iù foHkw"k.k ls lEekfur fd;k x;k \

		  Kishori Amonkar, Indian Classical 
vocalist of Jaipur Gharana received 
padma vihushan, India's second highest 
civilian award, in which of the following 
years ?

		  (A)	 2002	 (B)	 1998
		  (C)	 1985	 (D)	2005

[SSC CHSL 6-6-2022 Shift-2]

	 20.	 fuEufyf[kr esa ls dkSu ,d rcyk oknd ugha 
gSa \

		  (A)	 rU;e cksl

		  (B)	 Loiu pkS/kjh

		  (C)	 foØe ?kks"k

		  (D)	 th- ,u- ckyklqczã.;e

		  Who among the following is NOT a tabla 
player ?

		  (A)	 Tanmoy Bose	
		  (B)	 Swapan Chaudhuri
		  (C)	 Bickram Ghosh
	 	 (D)	 G N Balasubramanyam

[SSC CHSL 7-6-2022 Shift-1]

	 21.	 iafMr iUukyky ?kks"k] mUgsa vey T;ksfr ?kks"k 
ds uke ls Hkh tkuk tkrk gS]--------------ctkrs Fks 
vkSj ,d laxhrdkj FksA

		  (A)	 rcyk	 (B)	 ck¡lqjh

		  (C)	 ljksn	 (D)	 flrkj

		  Pandit Pannalal Ghosh also known as 
Amal Jyoti Ghosh, was a..........player and 
composer.

		  (A)	 Tabla	 (B)	 Bansuri
		  (C)	 Sarod	 (D)	Sitar

[SSC CHSL 8-6-2022 Shift-3]

	 22.	 iafMr Loiu pkS/kjh----------ok| ;a= ls lacaf/kr 
gSaA

		  (A)	 gkeksZfu;e	 (B)	 rcyk

		  (C)	 oh.kk	 (D)	ck¡lqjh

		  Pandit Swapan Chaudhuri is associated 
with............instrument.

		  (A)	 Harmonium	 (B)	 Tabla
		  (C)	 Veena	 (D)	Bansuri

[SSC CHSL 10-6-2022 Shift-1]

tho foKku
1. thoksa dk oxhZdj.k

	 23.	 dkSu&lk ,d dksf'kdh; tho ,d ,slh izfØ;k 
}kjk Hkkstu izkIr djrk gS] ftlesa dksf'kdk,¡ 
cká inkFkZ dks dksf'kdk f>Yyh ls ifjxzghr dj 
vo'kksf"kr dj ysrh gSa \

		  (A)	 ;hLV	 (B)	 vehck

		  (C)	 Likbjksxkbjk	 (D)	okWyokWDl

	 	 Which unicellular organism acquires 
food by a process in which cells absorb 
external material by engulfing it with the 
cell membrane ?

		  (A)	 Yeast	 (B)	 Amoeba
		  (C)	 Spirogyra	 (D)	Volvox

[SSC CHSL 2-6-2022 Shift-3]

2. dksf'kdk ,oa Ård

	 24.	 ml ?kVd dh igpku djsa tks dsoy izksdSfj;ksV~l 
es vf}rh; :i ls ik;k tkrk gSA

		  (A)	 xq.klw=	 (B)	 ehtkslkse

		  (C)	 dsUæd	 (D)	dsUæd f>Yyh

		  Identify the component that is unique only 
to prokaryotes.

		  (A)	 Chromosomes	
		  (B)	 Mesosome
		  (C)	 Nucleus
	 	 (D)	 Nuclear membrane

[SSC CHSL 31-5-2022 Shift-1]

	 25.	 LraHk A dks LraHk B ls lqesfyr dhft,A

LraHk-A LraHk-B

i.   dksf'kdk dk ikoj 
gkml

a. IykfLVM

ii.  ,d dksf'kdk dh 
jlksbZ

b. ekbVksdkWfUMª;k
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la[;kRed vfHk;ksX;rk

1. la[;k i¼fr
	 1.	 A dk og U;wure /kukRed eku Kkr dhft, 

ftls la[;k 34278A2597 eas A ds LFkku ij 
j[kus ls ;g la[;k 9 ls foHkkT; gksxh\

		  (A)	 7	 (B)	 2
		  (C)	 1	 (D)	8
		  What is the least positive value of A in the 

number 34278A2597, which is divisible 
by 9 ?

		  (A)	 7	 (B)	 2
		  (C)	 1	 (D)	8

[SSC CHSL 2022 Shift-1]

	 2.	 fuEufyf[kr eas ls dkSu-lk 2 3 5+ +^ h  
dk ifjes;dj.k xq.kkad gks ldrk gS\

	 	 (A)	 2 3 5+ +^ h 6
		  (B)	 2 3 5- +^ h 6
	 	 (C)	 2 3 5+ -^ h 6
		  (D)	 2 3 5- -^ h 6

		  Which of the following can be a rational-
ising factor of 2 3 5+ +^ h  ?

	 	 (A)	 2 3 5+ +^ h 6
		  (B)	 2 3 5- +^ h 6
	 	 (C)	 2 3 5+ -^ h 6
		  (D)	 2 3 5- -^ h 6

[SSC CHSL 2022 Shift-1]

	 3.	 ;fn 9 vadkas dh ,d la[;k 5p42978n6, 72 
ls foHkkT; gS] rks (2p – 1) dk eku D;k gksxk] 
tgk¡ n, n ds lHkh laHkkfor ekukas eas ls nwljk 
lcls cM+k eku gS\ fn;k x;k gS fd p vkSj n 
izkÏfrd la[;k,¡ gSaA

	 	 (A)	 15	 (B)	 17
		  (C)	 21	 (D)	11
		  If the 9-digit number 5p42978n6 is divis-

ible by 72, what is the value of (2p – 1), 
where n is the second largest of all the 
possible values of n ? Given that p and n 
are natural numbers.

		  (A)	 15	 (B)	 17
		  (C)	 21	 (D)	11

[SSC CHSL 2022 Shift-1]

	 4.	 rhu Øekxr fo"ke la[;kvkas dk xq.kuQy 693 
gSA rhukas la[;kvkas eas lcls NksVh la[;k dkSu-lh 
gS\

	 	 (A)	 11	 (B)	 7
		  (C)	 5	 (D)	9

		  The product of three consecutive odd 
numbers is 693. What is the smallest of 
the three numbers ?

		  (A)	 11	 (B)	 7
		  (C)	 5	 (D)	9

[SSC CHSL 2022 Shift-1]

	 5.	 fuEufyf[kr eas ls dkSu-lh la[;k 360 ls  
foHkkT; gS\

		  (A)	 171720	 (B)	 176600
		  (C)	 166200	 (D)	171080

		  Which of the following numbers is divis-
ible by 360 ?

		  (A)	 171720	 (B)	 176600
		  (C)	 166200	 (D)	171080

[SSC CHSL 07/06/2022 Shift-3]

	 6.	 ;fn y, x ds vuqØekuqikrh gS] vkSj tgk¡ x = 
42 gksus ij y = 61 gks] rks x = 54 gksus ij y dk 
eku Kkr djas (iw.kk±d eku dk laKky ys)A

		  (A)	 86	 (B)	 78
		  (C)	 82	 (D)	72
		  If y varies directly with x, and y = 61 

when x = 42, find y when x = 54 (consider 
integral value).

		  (A)	 86	 (B)	 78
		  (C)	 82	 (D)	72

[SSC CHSL 08/06/2022 Shift-2]

2. e-l-i- ,oa y-l-i-
	 7.	 fuEufyf[kr dk oxZewy D;k gS\
	 	 (x2 – 14x + 49) (x2 + 6x + 9) 
		  (A)	 (x –7) (x + 3)	 (B)	 (x – 3) (x + 8)
		  (C)	 (x – 4) (x + 9)	 (D)	 (x – 1) (x + 17)
		  Which among the below option can be a 

square root of ?
 		  (x2 – 14x + 49) (x2 + 6x + 9) 
		  (A)	 (x –7) (x + 3)	 (B)	 (x – 3) (x + 8)
		  (C)	 (x – 4) (x + 9)	 (D)	 (x – 1) (x + 17)

[SSC CHSL 02/062022 Shift-2]

	 8.	 ;fn P(x) = (x3 – 8) (x + 1) vkSj Q(x) = (x3 
+ 1) (x – 2) gS] rks P(x) vkSj Q(x) dk y?kqÙke 
lekioR;Z (LCM) D;k gksxk\

	 	 (A)	 (x2 + 2x + 4) (x2 + 4x + 1)
	 	 (B)	 (x + 1)(x – 2)(x2 + 2x + 4)(x2 – x + 1)
		  (C)	 (x + 1)2 (x – 2)2 (x2 + 2x + 4) 

(x2 + 4x + 1)
	 	 (D)	 (x – 2) (x + 1)

		  If P(x) = (x3 – 8) (x + 1) and Q(x) = (x3 + 
1) (x – 2), the LCM of P(x) and Q(x) is :

		  (A)	 (x2 + 2x + 4) (x2 + 4x + 1)
	 	 (B)	 (x + 1)(x – 2)(x2 + 2x + 4)(x2 – x + 1)
		  (C)	 (x + 1)2 (x – 2)2 (x2 + 2x + 4)(x2 + 4x 

+ 1)
	 	 (D)	 (x – 2) (x + 1)

[SSC CHSL 07/06/2022 Shift-2]

3. ljyhdj.k
	 9.	 ljyhdj.k djasµ 
		  [ ( )}]p p p q p p q p3 3 3- - + - - - -"
		  (A)	 3p – q	 (B)	 p + 2q
		  (C)	 3p + 2q	 (D)	2p – 2q
		  Simplify :
		  [ ( )}]p p p q p p q p3 3 3- - + - - - -"
		  (A)	 3p – q	 (B)	 p + 2q
		  (C)	 3p + 2q	 (D)	2p – 2q

[SSC CHSL 24/05/2022 Shift-2]

	 10.	 ,d rkykc 50 eh- yack] 35 eh pkSM+k vkSj 2.5 
eh xgjk gSA rkykc dh /kkfjrk (vk;ru) Kkr 
dhft,A

		  (A)	 4375 eh3	 (B)	 4165 eh3

		  (C)	 4156 eh3	 (D)	3850 eh3

		  A pond is 50 m long, 35 m wide and 2.5 
m deep. Find the capacity of the pond.

		  (A)	 4375 m3	 (B)	 4165 m3

		  (C)	 4156 m3	 (D)	3850 m3

[SSC CHSL 25/05/2022 Shift-2]

	 11.	 4800 ;k 56% – {(93 × 8) ÷  6561 }  
(81 ÷ 8) dk 48% = ?

	 	 56% of 4800 – {(93 × 8) ÷  6561 ) – 48% 
of (81 ÷ 8) = ?

		  (A)	 2611.14	 (B)	 2612.86
		  (C)	 2612.14	 (D)	2611.86

[SSC CHSL 27/05/2022 Shift-3]      

	 12.	 ljyhdj.k djasµ
		  3ab × (a + b)–1 × (a–1 + b–1)
		  (A)	 (a + b)	 (B)	 1
		  (C)	 	( )a b

1
+ 	 (D)	3

		  Simplify :
		  3ab × (a + b)–1 × (a–1 + b–1)



la[;kRed vfHk;ksX;rk  |   61

		  (A)	 (a + b)	 (B)	 1
		  (C)	 	( )a b

1
+ 	 (D)	3

[SSC CHSL 2022 Shift-3]

	 13.	
9 9 9 9 9
9 9 9 9 9
1 2 3 4 5

3 4 5 6 7 2
1

+ + + +
+ + + +d n dk eku Kkr 

		 djasµ

		  (A)	 729	 (B)	 3
		  (C)	 81	 (D)	9
		  Find the value of  

		
9 9 9 9 9
9 9 9 9 9
1 2 3 4 5

3 4 5 6 7 2
1

+ + + +
+ + + +d n .

	 	 (A)	 729	 (B)	 3
		  (C)	 81	 (D)	9

[SSC CHSL 1/06/2022 Shift-1]

	 14.	 fuEufyf[kr O;atd dks gy dhft,A

		  ( ) ( ) ( )
( ) ( )
777 777 777 423 432 423
777 777 777 423 423 423

× – × ×
× × × ×

+
+

		   × ( )77 47
1
–

		  Simplify the following expression.

		  ( ) ( ) ( )
( ) ( )
777 777 777 423 432 423
777 777 777 423 423 423

× – × ×
× × × ×

+
+

		   × ( )77 47
1
–

		  (A)	 400	 (B)	 40
		  (C)	 1200	 (D)	30

[SSC CHSL 02/06/2022 Shift-1]

	 15.	 1980 ÷ 9 + [– 77 + { – 1980 + 4
1  of 7920 )}] 

dk eku D;k gS\
		  (A)	 164	 (B)	 1990
		  (C)	 143	 (D)	1980

		  What is the value of 1980 ÷ 9 + [– 77 + 
{ – 1980 + ( 4

1  of 7920 )}] ?
	 	 (A)	 164	 (B)	 1990
		  (C)	 143	 (D)	1980

[SSC CHSL 02/06/2022 Shift-3]

	 16.	 ljyhdj.k djasµ

		  2[8p + 5 {n – 2 ( )n n p- +  + 4p}]
		  Simplify :
		  2[8p + 5 {n – 2 ( )n n p- +  + 4p}]
	 	 (A)	 6p + 10n	 (B)	 7p + 6n
		  (C)	 76p + 10n	 (D)	10p + 10n

[SSC CHSL 03/06/2022 Shift-3]

	 17.	 ljyhdj.k djsaµ

		
÷

of

of

8
35

4
15

48
7

16
5

14
27

7
24

28
63

4
9

95
196

÷
÷

+

-

		  Simplify that :

		
÷

of

of

8
35

4
15

48
7

16
5

14
27

7
24

28
63

4
9

95
196

÷
÷

+

-

		  (A)	 357
40- 	 (B)	 343

40-

		  (C)	 343
40 	 (D)	  243

40-

[SSC CHSL 06/06/2022 Shift-1]

	 18.	
( . ) ( . ) ( . ) – ( . )

( . ) ( . ) ( . ) ( . ) ( . )

( . ) ( . ) ( . )

– × . × . × .
6 9 2 7 5 8 6 9

2 7 2 7 5 8 5 8 6 9

6 9 2 7 5 8

3 6 9 2 7 5 8
2 2 2

3 3 3

+ +

- -

+ +

 
		

		  dks gy djas
		  (A)	 15.1	 (B)	 15.3
		  (C)	 15.2	 (D)	15.4

		  Solve :

		
( . ) ( . ) ( . ) – ( . )

( . ) ( . ) ( . ) ( . ) ( . )

( . ) ( . ) ( . )

– × . × . × .
6 9 2 7 5 8 6 9

2 7 2 7 5 8 5 8 6 9

6 9 2 7 5 8

3 6 9 2 7 5 8
2 2 2

3 3 3

+ +

- -

+ +

		  (A)	 15.1	 (B)	 15.3
		  (C)	 15.2	 (D)	15.4

[SSC CHSL 07/062022 Shift-2]

	 19.	 (6.25)0.07 × (625)0.18 dk eku Kkr dhft,A
		  (A)	 25	 (B)	 625
		  (C)	 5	 (D)	125

		  Find the value of (625)0.07 × (625)0.18.
		  (A)	 25	 (B)	 625
		  (C)	 5	 (D)	125

[SSC CHSL 07/06/2022 Shift-3]
 	20.	 fuEufyf[kr O;atd dk eku d;k gksxk\

	 × ×
x
x

x
x

x
x2 3 6

( ) ( ) ( )
–

b

a a b

c

b b c

a

c a c
2 2 2

+ + +

d c cn m m
		  (A)	 1	 (B)	 0
		  (C)	 4	 (D)	9

		  What is the value of the following expres-
sion ?

	 × ×
x
x

x
x

x
x2 3 6

( ) ( ) ( )
–

b

a a b

c

b b c

a

c a c
2 2 2

+ + +

d c cn m m
		  (A)	 1	 (B)	 0
		  (C)	 4	 (D)	9

[SSC CHSL 08/06/2022 Shift-2]

	 21.	 ljyhdj.k djasµ

		  (a–1 + b–1) ÷ (a–3 + b–3)

		  (A)	
( )a ab b

ab
2 2- +

(B)	
( )a ab b

a b
2 2

3 3

- +

		  (C)	
( )a ab b

a b
2 2

2 2

+ +
(D)	

( )a ab b
a b

2 2

2 2

- +

		  Simplify :

		  (a–1 + b–1) ÷ (a–3 + b–3)

		  (A)	
( )a ab b

ab
2 2- +

(B)	
( )a ab b

a b
2 2

3 3

- +

		  (C)	
( )a ab b

a b
2 2

2 2

+ +
(D)	

( )a ab b
a b

2 2

2 2

- +

[SSC CHSL 09/06/2022 Shift-3]

4. vkSlr
	 22.	 15 ,FkyhVkas vkSj rhu izf'k{kdkas dk vkSlr otu 

60 fdxzk gSA tc 63 fdxzk vkSlr otu ds pkj 
vkSj ,FkyhVkas dks lewg eas 'kkfey fd;k tkrk gS] 
rks lewg dk vkSlr otu (fdxzk eas] fudVre 
iw.kk±d rd iw.kk±fdr) fdruk gks tk,xk\

		  (A)	 61	 (B)	 62
		  (C)	 59	 (D)	60
		  The average weight of 15 athletes and 

three trainers is 60 kg.When four more 
athletes of average weight of 63 kg are 
included in the group, what is the average 
weight (in kg, rounded off to the nearest 
integer) of the group ?

		  (A)	 61	 (B)	 62
		  (C)	 59	 (D)	60

[SSC CHSL 26/05/2022 Shift-1]

	 23.	 rhu la[;kvkas a
3 , b vkSj c dk ek/; ogh gS] 

tks la[;kvkas ,b c
3 3  x dk ek/; gSA 3x dk eku 

D;k gS (tgk¡ a, b, c /kukRed la[;k,¡ gSa)\
		  (A)	 b + c	 (B)	 a
		  (C)	 a + 3b + 3c	 (D)	a + 2b + 2c
		  The mean of three numbers a

3 , b and c 
is the same as the mean of the numbers 

,b c
3 3  and x. The value of 3x is (where 

a, b, c are positive numbers) :
		  (A)	 b + c	 (B)	 a
		  (C)	 a + 3b + 3c	 (D)	a + 2b + 2c

[SSC CHSL 26/05/2022 Shift-2]

	 24.	 ,d Nk= ds vad xyrh ls 69 ds ctk; 94 ntZ 
fd, x,A bl =qfV ds dkj.k] d{kk ds vkSlr 
vadkas eas 1.25 dh c<+ksrjh gks xbZA ml d{kk eas 
Nk=kas dh la[;k fdruh gS\

		  (A)	 25	 (B)	 15
		  (C)	 22	 (D)	20
		  A student’s marks were incorrectly 

entered as 94 instead of 69. Due to this 
error, the average marks of the class got 
increased by 1.25. What is the number of 
students in the class ?

		  (A)	 25	 (B)	 15
		  (C)	 22	 (D)	20

[SSC CHSL 01/06/2022 Shift-3]

	 25.	 ,d d{kk eas 26 yM+ds vkSj 24 yM+fd;k¡ gSaA 
xf.kr ds f'k{kd us ,d ijh{kk yh vkSj ik;k fd 
iwjh d{kk ds vkSlr vad 85 gaSA ;fn yM+dksa ds 
vkSlr vad 82 Fks] rks yM+fd;kas ds vkSlr vad 
Kkr dhft,µ

		  (A)	 87.5	 (B)	 82
		  (C)	 88.25	 (D)	85
		  In a class there are 26 boys and 24 girls. 

The Math teacher administerted a test and 
found that the average score of the whole 
class is 85. If the average score of the 
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English Language

1. Noun
	 1.	 Select the most appropriate option to fill 

in the blank.

		  The Young Global Leaders Community 
is an..............for a dynamic community 
of exceptional people with the vision, 
courage and influence to drive positive 
change in the world.

		  (A)	 impediment	 (B)	 effort
		  (C)	 accelerator	 (D)	 input

[SSC CHSL 6-6-2022 Shift-2]

	 2.	 In the following passage, some words 
have been deleted. Read the passage 
carefully and select the most appropriate 
option to fill in each blank.

		  The app gets Larry’s parents involved 
in the learning and improvement 
process, sending them advice about 
Larry’s behaviours and progress, and 
recommending motivational............they 
might undertake that are.............to Larry’s 
situation and the program’s............about 
his attitudes and behaviours.

		  (A)	 interruptions, disillusioned, invasions
		  (B)	 interpolations, disrupted, inventions
		  (C)	 interventions, targeted, inferences
		  (D)	 intermissions, directed, injunctions

[SSC CHSL 7-6-2022 Shift-3]

2. Verb & Modals
	 3.	 In the following passage, some words 

have been deleted. Read the passage 
carefully and select the most appropriate 
option to fill in each blank.

		  The minute you start................and 
tolerating................... it becomes the new 
norm and the slide begins and therefore, 
we must constantly..................to give our 
best and be recognised, not simply Aim 
to do just enough to....................that we 
don’t get found out.

		  (A)	 contradicting, distinction, stink, 
endeavour 

		  (B)	 compromising, mediocrity, strive, 
ensure

	 	 (C)	 compelling, excellence, strike, en-
courage

		  (D)	 conjecturing, transcendence, strum, 
envision

[SSC CHSL 26-5-2022 Shift-2]
	 4.	 In the following passage, some words 

have been deleted. Read the passage 
carefully and select the most appropriate 
option to fill in each blank.

		  Very carefully I............... the tree I have 
referred to, and avoiding contact with 
the creepers, the upper............ and leaves 
of which might have been visible from 
where the tiger was lying, I climbed to 
the fork, where I had a comfortable seat 
and perfect............. .

		  (A)	 starved, stem, disclosure
		  (B)	 stormed, fruits, revelation
		  (C)	 stalked, tendrils, concealment
		  (D)	 stalled, roots, visibility

[SSC CHSL 31-5-2022 Shift-2]
	 5.	 In the following passage, a word has been 

deleted. Read the passage carefully and 
select the most appropriate option to fill 
in the blank.

		  Growing up in Bengaluru, I have 
watched  the city grow and ........... at 
Its seams, welcoming, as its own, all 
the......... population in search of jobs and 
pleasant.......... 

		  (A)	 demolish, foreign, tourism
		  (B)	 retreat, native, food
		  (C)	 flex, migrant, weather
		  (D)	 curtail, local, destination

[SSC CHSL 6-6-2022 Shift-1]
	 6.	 Select the most appropriate option to fill 

in the blank.
		  The young king tried to speak, but his 

tongue seemed to.......... the roof of his 
mouth, and his lips refused to move.

		  (A)	 leave to	 (B)	 divide to
		  (C)	 cleave to	 (D)	 link to

[SSC CHSL 9-6-2022 Shift-3]
	 7.	 In the following passage, some words 

have been deleted. Read the passage 
carefully and select the most appropriate 
option to fill in each blank.

		  Wise managers............ opinions, get 
information, ask advice, act........... and 
know the art of ............. responsibilities 
to the subordinates.

		  (A)	 entrust, transiently, accelerating
		  (B)	 solicit, transparently, delegating
		  (C)	 condemn, transnationally, elevating
		  (D)	 coerce, translucently, relegating

[SSC CHSL 10-6-2022 Shift-2]

3. Adjective
	 8.	 Select the most appropriated option to fill 

in the blank.
		  The............ crowd gave their newly 

elected leader a magnificent welcome.
		  (A)	 noisy	 (B)	 melancholic
		  (C)	 jubilant	 (D)	 troublesome

[SSC CHSL 24-5-2022 Shift-1]
	 9.	 Select the most appropriate option to fill 

in the blank.
		  One day, I was handed a few volumes of 

new literature unlike anything I had ever 
read before and so.......... as to make me 
utterly forget my hopeless state.

		  (A)	 repelling	 (B)	 captivating
		  (C)	 unrealistic	 (D)	boring

[SSC CHSL 25-5-2022 Shift-3]
	 10.	 Select the most appropriate option to fill 

in the blank.
		  She was laughing from the........... 

exuberance of the performance.
		  (A)	 total	 (B)	 sheer
		  (C)	 perfect	 (D)	utter

[SSC CHSL 26-5-2022 Shift-1]
	 11.	 In the following passage, a word has been 

deleted. Read the passage carefully and 
select the most appropriate option to fill 
in the blank.

		  In a ......... move, the robbers chose their 
next place of attack over 255 km away 
from the locations they had earlier......... 
in Dewas.

		  (A)	 corrupt, vanished
		  (B)	 righteous, incorporated
		  (C)	 noble, decided
		  (D)	 shrewd, targeted

[SSC CHSL 30-5-2022 Shift-2]



86   |   

	 12.	 Select the most appropriate option to fill 
in the blank.

		  She's been off work with........... stomach.
		  (A)	 an upset	 (B)	 a perturbed
		  (C)	 an agitated	 (D)	an overset

[SSC CHSL 30-5-2022 Shift-3]
	 13.	 Complete the sentence with an appropriate 

synonym of the word mentioned in the 
Bracket.

		  Watching the setting sun and the.......... 
(tranquil) surface of the water relaxes my 
mind.

		  (A)	 calm	 (B)	 moving
		  (C)	 roaring	 (D)	unsettled

[SSC CHSL 31-5-2022 Shift-2]
	 14.	 Select the most appropriate option to fill 

in the blank.
		  Towards the end of February the weather 

turned very............
		  (A)	 thin	 (B)	 mild
		  (C)	 slight	 (D)	 insipid

[SSC CHSL 1-6-2022 Shift-1]
	 15.	 Select the most appropriate option to fill 

in the blank.
		  As I review the events of my past life, I 

realise how....... are the influences that 
shape our destinies.

		  (A)	 artless	 (B)	 plain
		  (C)	 subtle	 (D)	crude

[SSC CHSL 1-6-2022 Shift-3]
	 16.	 In the following passage, some words 

have been deleted. Read the passage 
carefully and select the most appropriate 
option to fill in each blank.

		  We have already said that inconsistency is 
not a matter of............. education or lack 
of logical..............

		  (A)	 inadequate, rigour
		  (B)	 inadvertent, snigger
		  (C)	 indefinite, stupor
		  (D)	 institutional, shiver

[SSC CHSL 7-6-2022 Shift-1]
	 17.	 Select the most appropriate option to fill 

in the blank.
		  Funny stories made me and my brother......
		  (A)	 giggle	 (B)	 gritty
		  (C)	 conscious	 (D)	determined

[SSC CHSL 8-6-2022 Shift-1]
	 18.	 Select the most appropriate option to fill 

in the blank.
		  She raced........... towards the rain.
		  (A)	 crazily	 (B)	 berserk
		  (C)	 hectically	 (D)	 frantically

[SSC CHSL 9-6-2022 Shift-3]

4. Preposition
	 19.	 Select the most appropriate option to fill 

in the blank.
		  The roof......... the weight of the snow.
		  (A)	 collapsed  under
		  (B)	 collapsed to
		  (C)	 collapsed for
		  (D)	 collapsed with

[SSC CHSL 25-5-2022 Shift-3]
	 20.	 The following sentence has been spilt into 

four segments. Identify the segment that 
contains a grammatical error.

		  The birds flew/fastly above/ as we stood/ 
on our terrace.

		  (A)	 The birds flew	 (B)	 on our terrace
		  (C)	 fastly above	 (D)	as we stood

[SSC CHSL 27-5-2022 Shift-2]

5. Time & Tense
	 21.	 The following sentence has been split into 

four segments. Identify the segment that 
contains a grammatical error.

		  He has been/ excused by the teacher/ by 
the time a formal complaint/ for Bullying 
was made.

		  (A)	 He has been
		  (B)	 excused by the teacher
		  (C)	 for Bullying was made
		  (D)	 by the time a formal complaint

[SSC CHSL 25-5-2022 Shift-3]

6. Voice
	 22.	 Select the option that expresses the given 

sentence in passive voice.

		  You never hear of a happy billionaire.
		  (A)	 A happy billionaire never heard of
		  (B)	 A happy billionaire is never heared 

by you.
		  (C)	 No one hears a happy billionaire
		  (D)		 A happy billionaire is never heard of

[SSC CHSL 25-5-2022 Shift-1]

	 23.	 Select the option that expresses the given 
sentence in passive voice.

		  Tell her to finish the work.
		  (A)	 The work is to be finished by her.
		  (B)	 To finish the work be told to her.
		  (C)	 Let she finish the work.
		  (D)	 Let her be told to finish the work.

[SSC CHSL 27-5-2022 Shift-2]

7. Sentence Improvement
	 24.	 Select the option that will improve the 

underlined part of the given sentence.

		  Life is hard, unpredictable, but though 
manageable.

		  (A)	 though achievable
		  (B)	 although bearable
		  (C)	 despite practicable
		  (D)	 still controllable

[SSC CHSL 27-5-2022 Shift-2]
	 25.	 Select the option that will improve the 

underlined part of the given sentence.
		  Reema and Aasha were frolicking in the 

park.
		  (A)	 were performing in the garden
		  (B)	 were participating in the garden
		  (C)	 were enjoying in the garden
		  (D)	 were playing in the garden

[SSC CHSL 27-5-2022 Shift-3]

	 26.	 Select the most appropriate option to 
substitute the underline segment in the 
given sentence.

		  It is a bad habit to talk in while someone 
is speaking.

		  (A)	 cut in	 (B)	 walk over
		  (C)	 intrude over	 (D)	burst in

[SSC CHSL 1-6-2022 Shift-1]

	 27.	 Select the most appropriate option to 
substitute the underline segment in the 
given sentence.

		  Some politicians turn up their face at the 
hard life of downtrodden people.

		  (A)	 turn up their nose
		  (B)	 turn up their eyes
		  (C)	 turn up their mouth
		  (D)	 turn up their ears

[SSC CHSL 3-6-2022 Shift-3]

8. Synonyms
	 28.	 Select the most appropriate synonym of 

the given word.
		  Renounce
		  (A)	 Prevent	 (B)	 Condone
		  (C)	 Hamper	 (D)	Forsake

[SSC CHSL 24-5-2022 Shift-1]
	 29.	 Select the most appropriate synonym 

of the given in the brackets to fill in the 
blank.

		  The university team won the match in the 
end with a ............. (cunning) move.

		  (A)	 random	 (B)	 quick
		  (C)	 brillant	 (D)	 slick

[SSC CHSL 24-5-2022 Shift-2]
	 30.	 Select the denotation of the highlighted 

word.
		  The guile of the businessman is well 

known to his contemporaries.
		  (A)	 Courage	 (B)	 Gentleness
		  (C)	 Slyness	 (D)	Shyness

[SSC CHSL 24-5-2022 Shift-2]


